
 

 

2.  Remove the legs from the package. 

3.  To the holes made in the tabletop, apply the holes 
made in the leg and install the M6 screw into the 
pivot. 

4.  Tighten with an allen wrench (included in the pac-
kage). 

5.  To strengthen the structure, you can addiƟonally 
screw in screws (10 pieces per leg) 

6.  Turn the table over and it's ready 

Clean the table legs with a damp cloth. 
Do not use causƟc agents, scouring agents, bleach, alcohols and others of unknown purpose. 

Assembly instrucƟons 

Cleaning and maintenance 

Holes made for pivots 

Holes made for screws 

Coffee table‐Laser C  

1.  For each set of legs we add a set  

assembly kit which includes: 

- 10 pivots (double-threaded nuts) 

- 20 screws 

- 10 pieces of M6 screws 

- 1 allen wrench 

 

 

2.  Remove the legs from the package. 

3.  To the holes made in the tabletop, apply the holes 
made in the leg and install the M6 screw into the 
pivot. 

4.  Tighten with an allen wrench (included in the pac-
kage). 

5.  To strengthen the structure, you can addiƟonally 
screw in screws (10 pieces per leg) 

6.  Turn the table over and it's ready 

Clean the table legs with a damp cloth. 
Do not use causƟc agents, scouring agents, bleach, alcohols and others of unknown purpose. 

Assembly instrucƟons 

Cleaning and maintenance 

Holes made for pivots 

Holes made for screws 

Coffee table‐Laser C  

1.  For each set of legs we add a set  

assembly kit which includes: 

- 10 pivots (double-threaded nuts) 

- 20 screws 

- 10 pieces of M6 screws 

- 1 allen wrench 


